




















I. OPERATING INSTRUCTION

Breaking-In The Motorcycle

New motorcycle:

When first riding a new motorcycle, operate the motorcycle
for the first hour (about 25 km/16 miles) using not more than
half throttle and shifting gears so that the engine does not lug.

To replenish the fuel tank, be sure to use pre-mixed
gasoline-oil mixture.

Reconditioned motorcycle:

® After replacing the cylinder and crankshaft, operate the
motorcycle for the first hour observing the same caution as in
new motorcycle.

® When the piston, piston rings, gears, etc. are replaced, they
must be broken in by operating the motorcycle for the first
30 minutes using not more than half throttle and shifting
gears so that the engine does not lug.

Revving the engine more than necessary may cause engine
damage.









































































24

III. SERVICING THE ENGINE

3. CYLINDER HEAD, CYLINDER AND PISTON

(1) Spark plug

( 2) Flange nut (six)

( 3) Cylinder head

(4 ) Dowel pin (two)

( 5) Cylinder head gasket

( 6 ) Cylinder stud bolt (six)
(7)) Cylinder

( 8 ) Flange nut (four)
(9) Cylinder gasket

(10) Piston ring set

(11) Piston

(12) Piston pin clip (two)
(13) Exhaust pipe joint
(14) Bolt (three)

Fig. 3-9

(15) Reed valve gaSket

(16) Reed valve assembly
(17) Intake tube gasket

(18) Intake tube

(19) Flange bolt (six)

(20) Intake tube band

(21) A.C. generater cord clip

(22) Ex. flange gasket
























32

III. SERVICING THE ENGINE

6. GEARSHIFT MECHANISM

Fig. 3-35

( 1) Shift fork shaft A
( 2) Shift fork shaft B
3 ) Center fork

4 ) Right fork

5) Left fork

6 ) Gearshift return spring
7 ) Adjusting bolt

( 8) Setting plate

(9 ) Collar

(10) Gearshift spindle
(11) Lock washer

(12) Lock nut

(
(
(
(
(

(13) Circlip

(14) Thrust washer

(15) Gearshift pedal
(16) Bolt

(17) Shift return spring
(18) Screw (two)

(19) Ratchet pawl A
(20) Pawl plunger (two)
(21) Plunger spring (two)
(22) Drum shifter

(23) Rachet pawl B
(24) Nut

(25) Spring washer

(26) Bolt

(27) Guide plate

(28) Neutral stopper arm
(29) Neutral stopper arm spring
(30) Drum stopper bolt

(31) Drum stopper arm

(32) Plain washer

(33) Drum stopper arm spring
(34) Gearshift drum
























































































VL. OPTIONAL PARTS

61

3. CARBURETOR SETTINGS

The carburetor used on the CR250R ELSINORE will seldom experience trouble with the standard settings under average
load, climatic and barometric conditions. However, in order to tune up the engine to the best advantage as regards power
output, it is essential that the carburetor be adjusted according to the specific racing conditions. This instruction concerns the
CARBURETOR RACING KIT for the CR250R ELSINORE and will prove of much help in diagnosing troubles resulting from

improper carburetor settings.

Carburetor Settings and Trouble Diagnosis

Symptom

Remedy

Remarks

Mixture Lean at Full Throttle

» Hunting

« White or light gray spark plug
insulator

* Detonation

* Try with #2 or #3 higher main jet.

» Adjustment is normal if there are rusty brown to
grayish-tan powder deposits on spark plug elec-
trodes and insulator.

- Check float valve seat, fuel line and fuel cock
for clogging if mixture is still lean with #10
higher main jet.

» Check for advanced timing

« Check for aip leaking into intake
manifold

« Check for loose air cleaner

+ Check for primary compression
leak

Mixture Rich at Full Throttle

» Poor acceleration

« Lack of power

- Sooty deposits on spark plug
electrodes and insulator

» Replace with lower main jet.

- Adjustment is normal if there are rusty brown to
grayish-tan powder deposits on spark plug elec-
trodes and insulator.

NOTE: A slightly rich mixture is preferable to
reduce possible troubles associated with over-
heating.

« Check ignition timing

+ Check for clogged air cleaner

* Check for insufficient returning
of starter valve

« Check for excessively high fuel
level.

Mixture Rich at All Speeds

- Lower float level by 2 mm and try with #5
lower or raise main jet.

Float level STD
19 mm

Measure this distance
with gauge

+ Check for correct main jet
(too high number)

Mixture Lean at 1/4 Throttle
(Follows steps in reverse if
mixture is rich)

- Replace jet needle with greater taper needle
21A (1°30) - 31H (1°45"). At the same
time, lower main jet size by #5.

Mixture Lean at 1/2 Throttle
(Follow steps in reverse if
mixture is rich)

- Raise jet needle by 1 stage. (3rd —~ 4th)
« Try with #2 or #3 lower main jet if jet needle
is raised by more than 2 grooves.

- Grooves are counted from top

1st

2nd
3rd
4th
5th

Mixture Lean at 0—1/4 Throttle

- Try with narrower straight dia. jet needle.
(21A) (31E) (2.725 mm) - 31D (2.705 mm)

« Make sure that air screw
opening is within specs
1-1/2 turns out

Mixture Rich at 0—1/4

- Replace with greater straight dia. jet needle.
(21A) (31E) (2.725 mm) - 31F (2.745 mm)

» Same as above

Erratic or Unstable Performance

at Low Speeds With Detonation.

- Raise jet needle by 1 groove. (2nd - 3rd)
- Try with narrower straight dia. jet needle.
« Turn in air screw 1/2 rotation.




62

VI. OPTIONAL PARTS

Symptom

Remedy

Remarks

Mixture Rich at Very Low Speeds
(Poor throttle responce)

- Try with greater straight dia. jet needle.
« Screw air screw out as necessary.

+ If symptom still persists, reverse above procedure.

+ Check for dragging brake
- Check for excessively high fuel

level

Mixture Rich at Low Speed
(Poor throttle responce)

- Lower jet needle.
- If symptom still persists, reverse above step.

+ Same as above

Engine Does Not Slow Down
Smoothly

. Screw in air screw 1/4—1/2 turn or check for
air leak

« Check throttle valve for

binding

Mixture Rich at 1/4 — 3/4
Throttle
Poor Engine Response to Throttle

. Increase throttle valve cutaway. (#2.5 — #3.0)
« Decrease throttle valve cutaway if mixture is lean

Engine does not React to Air
Screw Adjustments

- Change Pilot Jet

Carburetor Setting Hints
Condition Measure Remarks
At High Altitude + Lean out mixture by lowering main jet number

(by #5 or #8 for every 1000 m increase in
altitude)
- Lower jet needle by 1 groove. (2nd — 1st)

At High Temperature
(35° - 40°C)

- Lean out enriched mixture by lowering main jet
number by #3 or #5.

At Low Temperature
(0° - 10°C)

- Enrich leaned mixture by using #3 or #5 higher
main jet.

In Rain, High Temperature

« Replace with #2 or #3 lower main jet.

+ Make sure that there is no

water in fuel

On Marshy, Slippery Surfaces or
on Sands, or with Frequent or
Long Updrades

- Use higher main jet.
* Raise jet needle by 1—2 grooves to enrich
mixture. (2nd - 3rd)

- Engine tends to overheat.
- Slightly retard engine response

to throttle for easier maneuver

Fine Day, Marshy or Slippery
Surfaces

- Use #2 or #3 higher main jet.

- To cope with reduced heat

radiation from cylinders

Under Dusty Conditions

« Check for clogged air cleaner.
- Do not use lower main jet to compensate for
clogged air cleaner.

« Adjust carburetor when air

cleaner is clean

On High Speed Runways

« Use #2 or #3 higher main jet than at best test
trial.

+ To prevent engine overheating

4. CYLINDER

The chrome-plated cylinder resists wear, contributes to lighter construction and improves cooling. The cylinder must not be
rebored nor the intake and exhaust ports reworked as such practices will only impair the engine performance. After
replacing the cylinder, operate the motorcycle for the first hour using not more than half throttle as described in
BREAKING—IN THE MOTORCYCLE on page 4. Note that oversize pistons and piston rings are not available for the engine.
NOTE:

Always use the piston rings designed specifically for the cylinder. Specially treated, the rings will ensure good comformity to
the contour of the cylinder wall within the shortest possible period.




VIL. SERVICE DATA

63

1. TROUBLESHOOTING

Trouble

Cause

Remedy

Engine fails to start or
does not start easily.

L.

Insufficient compression pressure
(1) Crankcase compression leak at oil seal

(2) Crankcase compression leak at crankcase mating
surfaces

(3) Worn or stuck piston rings
(4) Worn cylinder

. No spark at plug

(1) Fouled plug

(2) Wet plug

(3) Poor connections

(4) Faulty C.D.1. unit

(5) Incorrect ignition timing

(6) Faulty ignition coil

(7) Open or short circuit in ignition wires
(8) Short circuit in A.C. generator

. Raw gas in crankcase

. No fuel is fed to carburetor

Replace
Repair

Replace
Replace

Clean or replace
Clean or replace
Replace
Replace
Replace
Replace
Replace
Replace

Remove gas (with fuel cock in “OFF”
position after stopping the engine)

(1) Broken or clogged fuel cap breather tube Repair
(2) Clogged fuel cock Clean
(3) Faulty carburetor float valve Clean or replace
(4) Clogged fuel tube Clean
5. Deteriorated fuel-oil mixture Replace
Engine stalls 1. Fouled plug Clean or replace
frequently. 2. Incorrect ignition timing Replace
3. Clogged fuel lines Clean
4. Clogged carburetor jets Clean
5. Crankcase compression leak Repair
6. Intake manifold leak Repair or replace
7. Deteriorated fuel-oil mixture Replace
Engine does not have 1. Worn cylinder and worn or stuck piston rings Repair or replace
sufficient power. 2. Incorrect ignition timing Replace
3. Incorrect plug gap Repair or replace
4. Clogged carburetor jets Clean
5. Incorrect float height Adjust
6. Clogged air cleaner Clean or replace
7. Cracked expansion chamber Repair or replace
8. Deteriorated fuel-oil mixture Replace
Engine overheats. 1. Carbon deposits on cylinder head Clean
2. Lean fuel mixture Adjust
3. Overadvanced ignition timing Replace
4. Carbon deposits in expansion chamber Clean
5. Deteriorated gasoline Replace




. Short circuit in A.C. generator

Repair or replace

64 VII. SERVICE DATA
Trouble Cause Remedy
Clutch dlips. 1. Weak clutch springs Replace
2. Worn or deformed pressure plate Replace
3. Deformed clutch plates Replace
4. Worn or deformed friction discs Replace
. Clutch drags. 1. Unequal clutch spring tension Replace
| 2. Deformed clutch plates Replace
Transmission gears fail 1. Deformed shift drum stopper Repair or replace
to shift smoothly or 2. Broken shift drum Replace
sequentially. 3. Deformed shift forks Repair or replace
4. Weak shift drum stopper spring Replace
Change pedal fails to 1. Broken gearshift return spring Repair or replace
return. 2. Contact between cases and gearshift spindle Repair
Transmission gears 1. Worn main shaft and countershaft shifting gears Replace
disengage accidentally. | 2. Bent or worn gearshift forks Repair or replace
Engine operation is 1. Incorrect ignition timing Replace
erratic at low speeds. 2. Excessive plug gap Adjust or replace
3. Weak spark (defective ignition coil) Replace
4. Short circuit in A.C. generator Repair or replace
5. Incorrect float level Adjust
6. Incorrect carburetor air screw adjustment Adjust
Engine operation is 1. Insufficient plug gap Adjust or replace
erratic at high speeds. 2. Retarded ignition timing Replace
3. Faulty C.D.I. unit Replace
4. Faulty ignition coil Replace
5. Incorrect float level Adjust
6. Clogged air cleaner element Clean or replace
7. Crankcase compression leak Repair
8
9

. Broken or cracked expansion chamber, broken tail

pipe or carbon deposit

Repair or replace

Engine fails to fire. 1. Fouled spark plug Replace

2. Faulty ignition coil Replace

3. Faulty C.D.I. unit Replace

4. Short circuit in A.C. generator Replace
Spark plug electrodes 1. Rich mixture (rich carburetion or clogged air filter) | Adjust or clean
are fouled. 2. Incorrect gasoline and oil mixing ratio Replace

3. Incorrect spark plug heat range Replace
Spark plug electrodes 1. Incorrect heat range Use specified plug
are burnt. 2. Overheating engine Page 63

3. Incorrect ignition timing Replace

4. Loose spark plug Retighten

5

. Lean mixture

Adjust




VII. SERVICE DATA 65
Trouble Cause Remedy
Steering is hard. 1. Overtightened steering stem Adjust
2. Broken steering stem bearing Replace
3. Bent steering stem Replace
Front wheel shimmies. 1. Deformed rim Replace
2. Loose front wheel bearings Replace
3. Loose spokes Adjust
4. Loose axle and related parts Retighten
Front suspension is 1. Weak springs Replace
spongy. 2. Insufficient front fork oil Add
Front suspension is 1. Incorrect front fork oil; viscosity too high Replace
hard. 2. Excessive front fork fluid Adjust
Rear wheel shimmies. 1. Deformed rim Replace
2. Loose rear wheel bearings Replace
3. Loose spokes Adjust
4. Loose axle and related parts Retighten
Rear suspension is 1. Weak springs Replace
spongy. 2. Improper rear suspension adjustment Adjust
3. Insufficient nitrogen gas pressure Replace
Rear suspension is 1. Improper rear suspension adjustment Adjust
hard. 2. Spring thrust joint binding Repair
3. Bent shock absorber rods Replace
Braking effect is poor. 1. Improper brake shoe contact Repair or replace
2. Brake linings fouled with oil or grease Replace
3. Broken brake cable or loose brake pedal shaft Repair or replace
Brake free play is 1. Worn brake shoes Replace
insufficient. 2. Worn brake cam Replace
3. Improper brake arm position Repair or replace




VII. SERVICE

DATA

2. TORQUE SPECIFICATIONS

Torque
Item Thread dia. x pitch kg-m Ib-ft.
ENGINE
Cylinder head M 8x1.25 20 - 23 145 —16.6
Cylinder M10x 1.25 38 — 438 27.5 —34.7
A.C. generator rotor Mi12x1.25 S5 — 65 39.8 —47.0
Clutch center MI8 x 1.0 40 - 5.0 289 —36.2
Clutch spring M6x1.0 0.8 — 1.2 5.8 — 8.7
Clutch cover M6x1.0 07 - 1.0 59 - 7.2
Carburetor insulator M6x1.0 08 — 1.2 58 — 87
Drive gear M10 x 1.25 40 — 5.0 28.9 —-36.2
FRAME
Steering stem nut M24x1.0 8.0 —12.0 579 —86.8
Fork top bridge M 8x1.25 1.8 — 2.5 13.0 —18.1
Handlebar upper holders M 8x1.25 1.8 — 2.5 13.0 —18.1
Fork bottom bridge pinch bolts M 8x1.25 1.8 — 2.5 13.0 —18.1
Front axle shaft MI12x 1.25 55 - 7.0 39.8 —50.6
Front axle nut MI12x1.25 55 — 7.0 39.8 —50.6
Rear axle nut M18x 1.5 8.0 —-10.0 579 —-1723
Engine mounting bolt M10x 1.25 38 — 4.8 27.5 —34.7
Final driven sprocket M 8x1.25 32 — 3.8 23.1 =275
Rear brake torque link (front) MI10 x 1.25 38 — 48 27.5 —34.7
(rear) MI10 x 1.25 30 — 40 21.7 —28.9
Rear shock absorbers M10x 1.25 38 — 4.8 27.5 —34.7
Step bar M10x 1.25 38 — 438 275 —34.7
Gearshift pedal M6x1.0 1.0 - 14 7.2 —10.1
Kickstarter arm M 8x1.25 24 — 3.0 17.3 —21.7
Seat M 8x1.25 1.8 — 2.5 130 -18.1
Steering top thread M26x 1.0 0.55 - 0.65 398 — 4.70
Front spokes B.C3.2 0.25- 0.5 1.81 — 4.34
Rear spokes B.C 3.5 0.25—- 0.5 1.81 — 4.34
Bead stopper M 8x1.25 1.0 — 1.5 7.2 —10.8
Front/rear spoke plates M6x1.0 14 — 1.6 10.1 —-11.6
Swing arm pivot bolt M15x 1.5 6.0 — 8.0 434 —-579
Standard Torques
Size Torque kg-m (Ib-ft.) Size Torque kg-m (1b-ft.)

1.0-14( 72 -10.1)
24-29(174-21.7)
3.8 —4.8(27.5 - 34.7)

0.7 -1.0( 5.1~ 7.2)
0.8 -1.2( 58~ 87)
1.8 —2.5(13.0—18.1)
3.0 - 4.0(21.7 - 28.9)

6 mm flanged nut
8 mm flange bolt
10 mm flange bolt

6 mm screw

6 mm hex. bolt

8 mm hex. bolt
10 mm hex. bolt




VII. SERVICE DATA 67
3. SERVICE DATA
ENGINE i (in)
Item Standard Service Limit
Cylinder bore 69.980—69.995 (2.7551-2.7557) 70.05 (2.758)
Piston O.D. 69.93-69.95 (2.7531-2.7539) 69.800 (2.7480)
Piston pin hole 18.002—-18.008 (0.7087—-0.7089) 18.100 (0.7126)
Piston pin O.D. 17.992—-18.000 (0.7083-0.7087) 17.980 (0.7079)
biston rine end g L Top 0.2-0.4 (0.008-0.016) 0.6 (0.024)
i Second 0.2-0.4 (0.008-0.016) 0.6 (0.024)
Piston ring-groove clearance Second 0.025-0.050 (0.001-0.002) 0.07 (0.0028)
Connecting rod small end 1.D. . 21.997-22.009 (0.8660—0.8665) 22.017 (0.8668)
Connecting rod big end side clearance 0.2-0.6 (0.008-0.024) 0.7 (0.028)
Connecting rod big end radial clearance 0.01-0.022 (0.0004—0.0009) 0.030 (0.0012)
Clutch disc thickness 2.62—-2.78 (0.1031-0.1094) 2.4 (0.0945)
Clutch plate warpage 0.1 (0.004) 0.2 (0.008)
Clutch spring free length 32(1.260) 30(1.1811)
Clutch spring tension 18—20 kg/21 (39.7-44.1 1bs/0.827) 15 kg/21 .
(33.1 1bs/0.827)
Transmission gear backlash o —— 0.2 (0.008)
Shift fork guide shaft O.D. 11.966—11.984 (0.4711-0.4718) 11.92 (0.4693)
Shift fork 1.D. 12.000-12.018 (0.4724-0.4732) 12.05 (0.4744)
Shift fork pawl thickness 5.36-5.43(0.2110-0.2138) 5.00(0.1969)
FRAME mm (in.)

Item

Standard

Service Limit

Drive chain length (108 link)

1,714.5 (67.5)

1,720.0 (67.7165)

Front fork spring free length

453 (17.835)

410 (16.142)

529.5 (20.8465)

517.5(20.3140)

Rear shock absorber spring free length

354.8 (13.9685)

340(13.3858)

Front fork tube O.D.

36.925-36.950 (1.4537—-1.4547)

36.85 (1.4508)

Front fork bottom slider I.D.

37.065—37.104 (1.4593—1.4608)

37.25 (1.4665)

Wheel bearing axial play 0.07 (0.0028) 0.1 (0.004)

Wheel bearing radial play 0.03 (0.0012) 0.05 (0.002)
Front/rear axle runout 0.1 (0.004) 0.2 (0.008)

Front brake drum [.D. 140 (5.5118) 141 (5.5512)

Rear brake drum £.D. 160 (6.2992) 161 (6.3386)

Front brake lining thickness 4.5(0.1772) indicator (page 16)
Rear brake lining thickness 5(0.1969) indicator (page 17)
Front wheel rim runout 1.0(0.04) 2.0(0.08)

Rear wheel rim runout 1.0 (0.04) 2.0 (0.08)




68 VII. SERVICE DATA

4. ELECTRICAL WIRING DIAGRAM

ENGINE STOP SWITCH
 k C.D.I. UNIT
_B f—R_/& ________
S BRR- =
el O 1
G 'l i
|1 :
Bk/w| | |
|
b [
| |
} ! ! :
BK/W ———p1BK/W| |f | BK/R !
G —{—x+c— 11 = !
— |
B
IGNITION COIL
SPARK PLUG | Logqg | L wps
~rn G
A.C. GENERATOR
IG E
FREE B ..... Blue
— BK..... Black
PUSH % ~ 1 G ..... Green
CORD COLOR | Black/White Green = R ..... Red
W ..., White







70

VII. SERVICE DATA

7. SPECIFICATIONS (for racing or competition)

Item Metric English

Dimension Overall length 2,145 mm 84.5 in.

Overall width 890 mm 35.0 in.

Overall height 1,190 mm 46.9 in.

Wheel base 1,445 mm 56.9 in.

Seat height 940 mm 37.0 in.

Foot peg height 385 mm 15.2 in.

Ground clearance 300 inm 11.8 in.

Dry weight (without sub-muffler) 98 kg 216 lbs.
Frame Type Single cradle

F. suspension, travel Telescopic fork, travel 300 mm (11.8 in.)

R. suépension, travel Lay down swingarm, travel 280 mm (11.0 in.)

F. tire size, pressure 3.00—21 (4 PR), air pressure 1.2 kg/cm? (17.0 psi)

R. tire size, pressure 5.10—18 (4 PR), air pressure 1.2 kg/cm? (17.0 psi)

F. brake, lining area Internal expanding shoes, lining swept areas 65 cm? (10.1 sq. in.)

R. brake, lining area Internal expanding shoes, lining swept areas 79.6 cm? (12.3 sq. in.)

Fuel capacity 857 2.2 U.S.gal. 1.9 Imp. gal.

Caster angle 61°15°

Trail length 118 mm 4.7 in.

Front fork oil capacity 275 ¢cc 9.3 ozs.
Engine Type Air cooled, 2-stroke engine

Cylinder arrangement Single 7° inclined from vertical

Bore and stroke 70.0 x 64.4 mm 2.756 x 2.535 in.

Displacement 247 cc 15.1 cu-in.

Compression ratio 7.3:1

Transmission oil capacity 0.75¢ 0.79 U.S. gt., 0.66 Imp. qt.
Carburetor Type Piston valve

Main jet (standard) #185

Slow jet (standard) # 60

Air screw opening 1-1/2

Float height 19 mm [ 0.75 in.
Drive train Clutch Wet, multi-plate type

Transmission S-speed, constant mesh

Primary reduction 3.250

Gear ratio | 1.900

Gear ratio I 1.591

Gear ratio 111 1.240

Gear ratio IV 1.000

Gear ratio V 0.839




VII. SERVICE DATA 71
Item Metric English
Drive train Final reduction 3.500
Gear shift pattern Left foot operated return system
Electrical Ignition C.D.1. Ignition coil

Starting system

Kick starter

Spark plug

(CHAMPION) N-2G or (NGK) BOEV (for U.S.A. model)

(CHAMPION) QN-2G, (NGK) BROEV or

(ND) W27ESR-G (for Canadian model)




72 MEMO







	1979_Honda_CR250R_Elsinore_-_Operating_Instructions
	1979_Honda_CR250R_Elsinore_-_Inspection___Maintenance
	1979_Honda_CR250R_Elsinore_-_Servicing_the_Engine
	1979_Honda_CR250R_Elsinore_-_Servicing_the_Frame
	1979_Honda_CR250R_Elsinore_-_Servicing_the_Electrical_System
	1979_Honda_CR250R_Elsinore_-_Optional_Parts
	1979_Honda_CR250R_Elsinore_-_Service_Data



